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Learning Progression for PARCC PBA Practice 1. The diagram represents a portion of a small city. Maple Street
and Pine Street run exactly east to west. Oak Avenue runs exactly north to south. All of the streets remain straight.

. . Which statements must be true, based only on the given information?

R ; / Select all that apply.
Muolssth o e . : .
- A. Birch Street and Elm Street intersect at right angles.
\/< < B. Maple Street and Pine Street are parallel.

Pine St. - - C. If more of the map is shown, Elm Street and Oak Avenue will
) ' >4 not intersect.
E: ,(c“y : 6?075} D. Pine Street intersects both Birch Street and Elm Street.
g@ /9\/ : \\ E. Oak Avenue and Maple Street are perpendicular.

7 AN

If a truck can’t make the turn from Maple St to Elm St when traveling
toward Oak Ave because of the angle of intersection, what other turns will that truck be unable to complete?
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Learning Progression/Task Ana%sis for SBAC 43052: Problem Solving, Targets 2A, 2C, A.CED.1, A-REL3

Problem

Tony is buying a used car. He will choose between two cars. The table below shows information about each car.

-PT

ped ovt
can't \‘f\u‘t“?l‘:

Awm by s

Car Cost Miles per gallon Estimated Immediate 9 &
(MPG) Repairs bic doegn't I8
Car A | $3200 18 $700 | had CoviBat.g
CarB | $4700 24 $300 - et
Tony wants to compare the total costs of buying and using these cars. ths W4T
Tony estimates he will drive at least 200 miles per month.
The average cost of gasoline per gallon in his area is $3.70. — MRAgpore Fort
Tony plans on owning the car for 4 years. reup -
Calculate and explain which car will cost Tony the least to buy and use. 4
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Learnlng Prosression for October 2, 2012 Problem 3

re—w a> Mmarttian$ +S$C

The Martins keep goats and chickens on their farm. If there are 23 animals with a total of 74 legs, how

many of each type of animal are there?

Progression Piece

Notes

Acew prx ¥
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a. Total
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4. Multiply whole numbers
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